EARAROBREBRT —5 XN—ZXBISH—F

20224F9832H (&) 6EImAl4H

12R pzedSl

C2C3 UY5%—i%

BRI

[AE%] 17%&:1,500,000 § ~ 237&:525,000 ™  37&:300,000FH  435:225000 M . 53&:150,000 4

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~ SN~ T H1EREB : -1-1- - fEE—5 CEfl)
118|9|¥F/Iv2T) IR A 2'(1_1)'5 L ° (4:18) NG
R:Ve VIR Yy N BiAFED /NS DOHHIS
— P < FERIRE : -6-6- - RBEE (#E)
217l 7=y /9547 B4 AR 2.(183).2 6-6-6-3 | 40.2 1 :1+511) kol
RIZI/ELVY N B:ZV/HA N FIET 7 — LA
\— t 6 | [HEAES 2:13.9 3-4-2-2 | 41.4| - 5 M4 | FLLER GERD)
35|55 | PAAN=TF7U— ! 55.0 o) #3) |YIIYT RRIXYN (@)
R:TSvIIAR F:vIAHE2 (B) 81— KL—y3avEEI 7
\ = ft 4 | BAED 2:14.0 7-7-7-5 | 40.5| — 2 461 |BE—S GEH)
48 4| YOVITUF 5.0 () e | LB
R:TUA=Y B:IvIRE—K IH XF
<~ 3y 4 | FEER 2:14.4 9-8-8-7 | 40.4| - 8 | 523 |/ISE (&)
] 3 et * 5.0 @ w2 | ) 7r—2rEvaY
RiT4IRI—ILEY B:FvryyaAavIIb—FT v R ARETa—T7—LA
3= W IERTE :15. -9-9- . - HEE— (&)
6lglg|¥35HnTHYa 5 | e T
RiF4—=FITUSYF B:yvAZVTEY HERARS
~ ~ 46 | BAITHIA 2:15.5 5-5-5-8 | 42.8| — 7 | 455 |NISE CED)
7@ 6| PV RAY 57.0 (1172 g |BOBT
R:¥YUSITvik B:F14FEEY b AREYa—Tr7—L
- preey= . 34 - USERR GRAD)
s M2 2AYTAUTIL # 5 o n 2.225).9 4-3-4-4 | 43.4 3 (4:‘:) EEH%%
RiRAIZT7—R B:AI)bx—T2 EARRUS
S " » 4 | S8BET 2:16.1 2-2-3-6 | 43.8| - 4 | 479 |BO—FF GEAD)
9111 |¥—2Lyh+7 # 57.0 (3/4) 5 | (@ JPNEEF
RV—=FHISHY B:OIIV/Z0Y ML RE
@ 11— —‘@BIEfI
10—7+— 9,1,5,2,6,7,4,8,3
20—7+— (9,1,2,5,6,7,4,3,8
BEIESSES 9,5,1,2,6,7,4,3,8
43—F— 9,5,7,2,4,1,3,6,8
o ILRE
BB 9 800H JA R 7-9 6004 & 7-8 1,580 3EE 5-7-9 3,050
B B 9 2504 5-9 890MH =] 8-7 3,670 3EE 9-7-5 14,170
7 140 5-7 3904 5 & 7-9 1,630
5 170/ BB 9-7 3,020

ABIC OV TRUTEREERRODDZE. THRIIZEL.




